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  ก����	
���

���
����ก����	
����������	 (Survey    Research)  $%&�'(ก)�ก��*�+,����	
-,�./+0��1���2��'(ก)�3�4�&�.56&,ก���7�0
6����-,�-+��������/�
�ก
8����
ก����-69:
�3�4
ก��'(ก)���;2$'(ก)����<���� �-6 3  =(4���;ก,08+���2��'(ก)�*��-69:
�3�4 3 ,���>, 
��;ก,08+��,���>, �	�;?,�+,�  ,���>,	;@�; @5; ,���>,�;@�;  *�03��
./+��	
�������,
��<�8������ก����	
�  A8�$����5;�,��88
�6&,?���
 
 
�����ก����ก������������   
  1.  ��;��ก�   
                                ��;��ก�3�4*�+*�ก����	
���

���
  ?8+@ก&  -+����ก����/���./+�,�*��2��'(ก)�
�
�ก
8����
ก����-69:
�3�4ก��'(ก)���;2$'(ก)����<�����-6 3.  �Dก��'(ก)� 2553  �2��'(ก)�3�4
��G83��ก���,�*��;8
0�

���;2$'(ก)��D3�4 1 H 6  	�����  1,035  �� *�  3 ,���>, ��;ก,08+��
,���>,�	�;?,�+,�  ,���>,	;@�;@5;,���>,�;@�;   
  2.  ก5%&$6
�,�&�� 

          ��;��ก�3�4*�+*�ก����	
���

���
  ?8+@ก&-+����ก����/  �
�ก
8����
ก����-69:
�3�4 
ก��'(ก)���;2$'(ก)����<���� �-6 3  	�����  1,035   ��  $���<�ก��8
���
 
 

2.1  ก��1�8ก5%&$6
�,�&��  A8�*�+�/6�  ��$���&  (Yamane',1970:888) 

   n  =   
   

   �$:4, n @3� -��8ก5%&$6
�,�&�� 
    N @3� -��8��;��ก� 
    e @3� �&����$�5�8��5:4,�-,�ก5%&$6
�,�&�� 
      *�3�4��4ก��1�8�3&�ก
0  0.05  
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@3��&�*��/6�    
                           

     

       n    =   288.50  
              8
��

� *�ก����	
���

���
*�+ก5%&$6
�,�&�� 	�����  289  �� 

2.2  �$:4,?8+-��8ก5%&$6
�,�&��@5+� 3��ก���%&$6
�,�&��@00@0&��

�>/$� 
,�&��$��
8�&�� (Proportional  Stratified  Random  Sampling) A8��3��0�
8�&��	�ก��;��ก�*�@6&
5;,���>, �9:4,*1+?8+ก5%&$6
�,�&��ก�;	��*�@6&5;'/��_���:,-&��ก��'(ก)� 3��ก���%&$ก5%&$6
�,�&��
	�กก5%&$��;��ก�-,�@6&5;'/��_���:,-&��ก��'(ก)�6�$�
8�&��3�4�����`?8+ A8���<�ก���%&$,�&��
�&��  (Sample  Random  Sampling) A8���<�	
0�5�ก@00?$&*�&�:� (Without  Replacement) ?8+ก5%&$
6
�,�&��8
�6&,?���
 
 
6���� 4     @�8�	�������;��ก�@5;ก5%&$6
�,�&��	��@�ก6�$'/��_���:,-&��ก��'(ก)� 
 

'/��_���:,-&��ก��'(ก)� 
	����� 

A������� 

	�������;��ก� 	�����ก5%&$6
�,�&�� 

(��) (��) 

6��05$;�:,A06ก 6 88 23 
6��05ก�5�=� 4 78 22 
6��056
�1��$
� 7 77 21 
6��056
�1��5�$, 5 43 13 
6��050�A��;A6 7 67 19 
6��050,�, 6 94 25 
6��05�b5�$ 6 75 21 
6��05	;@�; H  �+���.:,ก           10 146 41 
6��058%=��, H .8%�$�6� 8 116 33 
6��05	�0 5 79 22 
6��050/ก�6 6 107 32 
6��05$;�:,A0,,ก 5 59 17 

��$           1,035 289 

3�4$�   :  ����
ก����-69:
�3�4ก��'(ก)���;2$'(ก)����<�����-6  3 
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1.3  3��ก���%&$ก5%&$6
�,�&��	�กก5%&$��;��ก�-,�@6&5;'/��_���:,-&�� 

ก��'(ก)�6�$�
8�&��3�4�����`?8+ A8���<�ก���%&$,�&��&��  (Sample  Random  Sampling) A8���<�	
0
�5�ก@00?$&*�&�:� (Without  Replacement) 
 

�� ���� ����!�"!�ก������� 

 

  ���:4,�$:,3�4*�+*�ก����0��$-+,$/5  *�ก����	
���

���
  ./+��	
�?8+��+��-(
�	�ก 
ก��'(ก)��,ก���6����  @5;�����	
�3�4�ก�4��-+,�  @00�,02�$ $� 2 6,�  8
���
 
            6,�3�4 1   @00�,02�$�ก�4��ก
0ก��*�+,����	-,�./+0��1���2��'(ก)� ����
@00�,02�$ก��*�+,����	-,�./+0��1���2��'(ก)�6�$@����8@5;3c)d�ก��*�+,����	-,� 
�e��@5;�����(French & Raven,1968:259 - 270) =(4�$�,��_��;ก,0ก��*�+,����	-,�./+0��1��
3

�1$8  ��;ก,08+�� 
   1.  ,����	6�$3��กd1$��  ( Legitimate  Power) 

   2.  ,����		�กก��*1+����
5  ( Reward  Power ) 

   3.  ,����		�กก��0
��
01�:,5�A3) ( CoercivePower) 

   4.  ,����		�กก��,+��,��  (Referent  Power) 

   5.  ,����		�ก���$���4����l  (Expert  Power ) 

  @00�,02�$����@00$�6��&����;$�`�&�  (Rating  Scale)  6�$@����8-,�  

5���,�_3  (Lickert)A8�ก��1�8�;@��  5  �;8
0 (5+��  ����'@5;,
��`�  ����',2536:156 H 159) 

  �;8
0  5  1$��2(�   ก��*�+,����	-,�./+0��1���2��'(ก)� ,�/&*��;8
0$�ก3�4�%8 

  �;8
0 4  1$��2(�   ก��*�+,����	-,�./+0��1���2��'(ก)� ,�/&*��;8
0$�ก 

  �;8
0 3  1$��2(�   ก��*�+,����	-,�./+0��1���2��'(ก)� ,�/&*��;8
0���ก5�� 

  �;8
0 2  1$��2(�   ก��*�+,����	-,�./+0��1���2��'(ก)� ,�/&*��;8
0�+,� 

  �;8
0 1  1$��2(�   ก��*�+,����	-,�./+0��1���2��'(ก)� ,�/&*��;8
0�+,�3�4�%8 
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  6,�3�4 2  @00�,02�$�ก�4��ก
0�;8
0ก���7�0
6����-,�-+����ก����/ *�

�2��'(ก)��
�ก
8����
ก����-69:
�3�4ก��'(ก)���;2$'(ก)����<�����-6 3  6�$3�4 ����
ก���

�5-�<�ก���%�%�>�  (2549 : 37 H 38)  ?8+0
ll
6�ก���7�0
6����-,���/���8+��8
���
 

    

                1.  �7�0
6�ก�	ก��$3������ก���ก�4��ก
0ก��9
p��������9��/ 

                                   2.  $%&�$
4�9
p��./+�����*1+�6q$'
ก�>�9 

                                   3.  ������.5ก��������/+-,�./+����� 

                                   4.  ,0�$�%`<��$ 	���<��$*1+�ก�8-(
�@ก&./+����� 

                                   5.  ��+��$�%)��
$9
�<_3�48�ก
0./+,:4� 

@00�,02�$����@00$�6���&����;$�`�&�  (Rating  Scale)  6�$@����8-,�  5���,�_3  

(Lickert)  A8�ก��1�8 �;@��  5  �;8
0(5+��  ����'@5;,
��`�  ����',2536:156 H 159) 

   �;8
0  5  1$��2(� ก���7�0
6����-,�-+����ก����/,�/&*��;8
0$�ก3�4�%8 

    �;8
0 4  1$��2(� ก���7�0
6����-,�-+����ก����/,�/&*��;8
0$�ก 

   �;8
0 3  1$��2(�ก���7�0
6����-,�-+����ก����/,�/&*��;8
0���ก5�� 

    �;8
0 2  1$��2(�ก���7�0
6����-,�-+����ก����/,�/&*��;8
0�+,� 

    �;8
0 1  1$��2(�ก���7�0
6����-,�-+����ก����/,�/&*��;8
0�+,�3�4�%8 

 

ก��#�"��
�� ���� ������ 

 

  ก����+��@00�,02�$./+��	
�?8+8������ก��8
���
 
                1.  '(ก)��,ก���3�4�ก�4��-+,�ก
0��:
,1�8
���
 
       1.1  ก��*�+,����	-,�./+0��1���2��'(ก)�*�A������� ?8+'(ก)��+���+� 
	�ก�,ก���6���� @5;�����	
�3�4�ก�4��-+,�  
             1.2  ก���7�0
6����-,�-+����ก����/  ?8+'(ก)��+���+�	�ก�,ก���@5;6����
��$3

������	
�3�4�ก�4��-+,� 
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  2.  '(ก)�@00�,02�$3�4*�+*������	
�  *���:4,�3�4$�5
ก)`;�����	
��������$�`
�1$:,�ก
���$3

������	
�3�4$�5
ก)`;*ก5+�����ก
�����@��3��*�ก����+��@00�,02�$A8�'(ก)�
@00�,02�$�ก�4��ก
0ก��*�+,����	-,�./+0��1���2��'(ก)� -,�  ��=
5$�  ,�@8  =(4�3��ก��'(ก)�
��:4,�  ���$�
$9
�<_�;1�&��ก���
0�/+-,���/�ก�4��ก
0ก��*�+,����	-,�./+0��1���2��'(ก)�ก
0-�
l
*�ก���7�0
6����-,���/ @5; �
r95  A9<_@ก+� 3��ก��'(ก)���:4,�ก��*�+,����	*�ก��0��1��-,�
./+0��1���2��'(ก)�6�$3
'�;-,���/ �
�ก
8����
ก����-69:
�3�4ก��'(ก)��s66����-6 1   
  3.  ���@00�,02�$3�4��+�����,,�	���_3�4��(ก)� �9:4,9�	��`����$2/ก6+,�@5;
*1+���@�;��� �9:4,@ก+?-��
0��%�@00�,02�$*1+�$0/�`_-(
� 
  4.  ���@00�,02�$3�4��
0��%�@5+��&�*1+./+���4����l8+��ก��'(ก)�	����� 5  ��  
9�	��`�6��	�,0���$�3�4��6��6�$��:
,1�  (Content  Validity) �ก`u_*�ก���5:,ก./+���4����l  
?8+@ก& 
                    4.1  6��@1�&� ./+0��1���2��'(ก)� 1�:,�
ก����ก�� 
                          4.2.  �%p�ก��'(ก)����ll�A3 
                    4.3.  $�.5���3����	
� 
  �$:4,./+���4����l6��	�,0���$�3�4��6��6�$��:
,1�  (Content  Validity) @5;���,
��4�3�4���@ก+?-��
0��%� *1+2/ก6+,��$0/�`_��4�-(
�@5+����.5ก��9�	��`�?�3��ก��������;1_1����$
�3�4��6��������:
,1�A8���<�1�8
������$�,8�5+,��;1�&��-+,���$8+��6&�� v =(4�������;�8q�15
ก
-,���:
,1�ก����;�$��.5 (IC)  	�ก./+���4����l3

�  5  ��  (9���
6�_  3���
6�_,2540 : 117)   
A8�ก��1�8*1+�;@��8
���
 
 
  +1 �$:4,�1q��&�6��ก
0-,0-&����:
,1�3�4�;0% 
  

0 �$:4,?$&@�&*	�&�6��ก
0-,0-&����:
,1�3�4�;0%?�+ 
 

  -1 �$:4,@�&*	�&�-+,���2�$�

�?$&6��ก
0-,0-&�� ��:
,1�3�4�;0%?�+ 
 
  ���1�
0ก��������;1_1����$�3�4��6��6�$��:
,1� 	�กก����;�$��A8�./+���4����l 
5 ��  ���ก7�&� @00�,02�$6,�3�4 1 $�  50  -+, $�-+,���2�$3�4?8+���$�3�4��6��6�$��:
,1� �3&�ก
0  
0.8 - 1.0  	����� 50  -+, @5;6,�3�4 2 $�-+,���2�$ 28  -+, $��&� �3&�ก
0  0.8 - 1.0  	����� 28  -+, 
���1�
00��-+,3�4./+���4����l@�;���?8+���?���
0��%�@ก+?-  �9:4,*1+?8+���$2/ก6+,���4�-(
�   
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  5  ���@00�,02�$3�4��
0��%�@ก+?-@5+� ������,,�	���_3�4��(ก)��9:4,9�	��`� 
���$2/ก6+,��$0/�`_-,�@00�,02�$,�ก��

�1�(4� 
  6  ���@00�,02�$3�4�$0/�`_385,�*�+(Try  Out)  ก
0��/./+�,�3�4?$&*�&ก5%&$ 
6
�,�&��  	�����  30  �� 
  7  ���@00�,02�$3�4�$0/�`_3�4.&��ก��385,�*�+@5+�$�6��	*1+�;@�� @5; 
�&� ���$��:4,$
4� (Reliability)A8�*�+�/6��
$��;��3<�|@,5e� (α-coefficient)  -,���,�0
�
(Cronbach,1990:204)  ?$&64��ก�&�   0.7000  =(4�,�/&*��ก`u_3�4$����$��:4,2:,?8+ A8�@00�,02�$ 
6,�3�4 1   ?8+�&����$��:4,$
4��3&�ก
0  0.855   @00�,02�$6,�3�4 2?8+�&����$��:4,$
4��3&�ก
0  0.724   
��$3

�b0
0  ?8+�&����$��:4,$
4��3&�ก
0  .888 
  8  ���@00�,02�$3�4.&��ก��6��	�,0�%`>�9@5;��
0��%�*1$&b0
0�$0/�`_ 
@5+�?��กq0-+,$/5ก
0ก5%&$6
�,�&���9:4,3��ก����	
�6&,?� 
 
ก��
ก$�������%"��&� 

 

  ./+��	
�8������ก���กq0-+,$/5  A8�8������ก��8
�6&,?���
 
  1  -,1�
��:,@�;���6
�./+��	
�	�ก>������ก��0��1��ก��'(ก)��`; 
'(ก)�'��6�_  $1���3��5
���-5������3�_ ��3���-6�s66���  �9:4,�&�2(�./+0��1���2��'(ก)�*�
A��������
�ก
8�-6����
ก����-69:
�3�4ก��'(ก)���;2$'(ก)����<�����-6 3 �9:4,-,���$
,�%����;1_  6,0@00�,02�$ 
  2  ./+��	
��&�@00�,02�$?��
��2��'(ก)�ก5%&$��}�1$��9�+,$-,���$ 
�&�$$:,�&�@00�,02�$�:�ก5
0$��
�����
ก����-69:
�3�4ก��'(ก)����<�����-6 3 >��*��;�;��5�  
20  �
�  A8�-,���$,�%����;1_*1+�	+�1�+�3�4����
ก����-69:
�3�4ก��'(ก)�  �&����0��$*1+ 
  3  ./+��	
����@00�,02�$3�4?8+�
0�:�$�  6��	�,0���$�$0/�`_-,�ก��6,0 
@00�,02�$  @5;���.5?�3��ก��������;1_-+,$/56&,?� 
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ก����
����'(%"��&� 
 

  ก����	
���

���
./+��	
�������;1_-+,$/58+���,$9���6,�_  A8�*�+A��@ก�$�����q	�/�  
=(4�8������ก��6�$-

�6,�8
���
 

1. @00�,02�$6,�3�4 1  ����@00�,02�$$�6���&����;$�`�&��ก�4��ก
0 
ก��*�+r��,����	-,�./+0��1���2��'(ก)�-

�9:
�r��  *��
�ก
8����
ก����-69:
�3�4ก��'(ก)�
��;2$'(ก)����<�����-6  3 A8�������;1_�;8
0ก��*�+r��,����	*�ก��0��1��-,�./+0��1��
�2��'(ก)��
�ก
8����
ก����-69:
�3�4ก��'(ก)���;2$'(ก)����<�����-6 3  A8�*�+�&��b5�4�  
(Mean)  �&����$�0�4���0�$�6�r��  (Standard   Deviation) 
  ก��@�5.53��?8+A8�*�+�ก`u_�
$0/�`_ (Absolute  Criteria)  6�$@����8-,��0� 
(Best,1977  ,+��2(�*�  �
�   �8�9��
� , 2535 : 531 H 534  )  =(4�@0&��;@�������&�� v @6&5;�&��$�
���$1$��8
���
 
  �&��b5�4��;1�&��  4.51   -   5.00   1$�����$�&�  ก���7�0
6�*�+,����	*�ก��0��1��
,�/&*��;8
0$�ก3�4�%8 

 �&��b5�4��;1�&��  3.51  -    4.50   1$�����$�&�  ก���7�0
6�*�+,����	*� ก�� 
0��1��,�/&*��;8
0$�ก 
  �&��b5�4��;1�&��  2.51   -   3.50    1$�����$�&�  ก���7�0
6�*�+,����	*�ก��
0��1��,�/&*��;8
0���ก5�� 
  �&��b5�4��;1�&��  1.51   -   2.50   1$�����$�&�  ก���7�0
6�*�+,����	*�ก��0��1��
,�/&*��;8
0�+,� 
  �&��b5�4��;1�&��  1.00   -   1.50   1$�����$�&�  ก���7�0
6�*�+,����	*�ก��0��1��
,�/&*��;8
0�+,�3�4�%8 
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  2.  @00�,02�$6,�3�4  2 ������;1_-+,$/5�ก�4��ก
0ก���7�0
6����-,�-+����ก��
��/  ���./+�,� *��2��'(ก)��
�ก
8����
ก����-69:
�3�4ก��'(ก)���;2$'(ก)����<�����-6 3 A8�
������;1_�;8
0ก���7�0
6����-,�-+����ก����/���./+�,� *��2��'(ก)��
�ก
8����
ก����-69:
�3�4
ก��'(ก)���;2$'(ก)����<�����-6 3  A8�*�+�&��b5�4�  (Mean)  �&����$�0�4���0�$�6�r��  
(Standard   Deviation)  
  ก��@�5.53��?8+A8�*�+�ก`u_�
$0/�`_ (Absolute  Criteria)  6�$@����8-,��0� 
(Best,1977  ,+��2(�*�  �
�   �8�9��
� , 2535 : 531 H 534  )  =(4�@0&��;@�������&�� v @6&5;�&��$�
���$1$��8
���
 
  �&��b5�4��;1�&��  4.51   -   5.00   1$�����$�&�  ก���7�0
6����-,�-+����ก����/
,�/&*��;8
0$�ก3�4�%8 
  �&��b5�4��;1�&��  3.51  -    4.50   1$�����$�&� ก���7�0
6����-,�-+����ก����/,�/&
*��;8
0$�ก 
  �&��b5�4��;1�&��  2.51   -   3.50   1$�����$�&�  ก���7�0
6����-,�-+����ก����/
,�/&*��;8
0���ก5�� 
  �&��b5�4��;1�&��  1.51   -   2.50   1$�����$�&�  ก���7�0
6����-,�-+����ก����/
,�/&*��;8
0�+,� 
  �&��b5�4��;1�&��  1.00   -   1.50   1$�����$�&�  ก���7�0
6����-,�-+����ก����/
,�/&*��;8
0�+,�3�4�%8 
  3.  ������;1_���$�
$9
�<_�;1�&��ก��*�+,����	6�$กd1$�� ,����	ก��*1+����
5  
,����	ก��0
��
01�:,5�A3)   ,����		�กก��,��   ,����		�ก���$���4����l   -,�./+0��1��
�2��'(ก)�ก
0ก���7�0
6����-,�-+����ก����/�
�ก
8����
ก����-69:
�3�4ก��'(ก)���;2$'(ก)�
���<�����-6 3  A8���<�ก��1��&��
$��;��3<�|�1�
$9
�<_-,� �9���_�
�(Pearson �s Product  
Moment  Correlation  Coefficient) 
  ���1�
0�ก`u_ก��@�5���$1$���&��
$��;��3<�|�1�
$9
�<_*�+�ก`u_ก��@�5
���$1$��8
���
  (9���
6�_  3���
6�_,2540 :144) 
          2+��&��
$��;��3<�|�1�
$9
�<_$��&�  0.80   -(
�?�  2:,�&�$��&����$�
$9
�<_,�/&*�
�;8
0�/� 
          2+��&��
$��;��3<�|�1�
$9
�<_$��&�  0.60  -  0.79  2:,�&�$��&����$�
$9
�<_,�/&*�
�;8
0�&,�-+���/� 
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          2+��&��
$��;��3<�|�1�
$9
�<_$��&�  0.40  -  0.59  2:,�&�$��&����$�
$9
�<_,�/&*�
�;8
0���ก5�� 
         2+��&��
$��;��3<�|�1�
$9
�<_$��&�  0.20  -  0.39  2:,�&�$��&����$�
$9
�<_,�/&*�
�;8
0�&,�-+��64�� 
          2+��&��
$��;��3<�|�1�
$9
�<_$��&�64��ก�&�  0.20   2:,�&�$��&����$�
$9
�<_,�/&*�
�;8
064�� 
  4. ������;1_6
�9��ก�`_ก��*�+r��,����	6�$กd1$�� r��,����	ก��*1+����
5  
r��,����	ก��0
��
01�:,5�A3)   r��,����		�กก��,��   r��,����		�ก���$���4����l   -,�
./+0��1���2��'(ก)�3�4�&�.56&,ก���7�0
6����-,�-+����ก����/�
�ก
8����
ก����-69:
�3�4ก��'(ก)�
��;2$'(ก)����<�����-6 3  A8���<�ก��1��&��
$��;��3<�|ก��282,�91%�/`@00 (Stepwise 
Multiple Regression  Analysis )  �9:4,�+�1�ก��*�+��;�>3-,�,����	-,�./+0��1��3�4����6
�
9��ก�`_3�48�*�ก���7�0
6����-,�-+����ก����/  @5;��+���$ก��*��/��;@��8�0@5;*��/�
�;@��$�6�r�� 
 
#)������!�"!�ก����
����'(%"��&�  

 

1.  �2�6�3�4*�+*�ก��6��	�,0�%`>�9���:4,�$:, 
 1.1  ���$�3�4��6��������:
,1�  (Content  Validity) A8�ก��1��&�8
������$ 

�,8�5+,��;1�&��-+,���2�$  ก
05
ก)`;�b9�;ก5%&$9c6�ก��$A8�*1+./+���4����l1�:,./+3���%`�%p�
@6&5;��9�	��`�5����$�1q�@5;*1+�;@��  @5+�����;@��3�4?8+���$�@3��&�*��/6�  
(9���
6�_  3���
6�_,2538:117)  8
���
 

         IC       =       

 �$:4,   IC   @3�     8
������$�,8�5+,��;1�&��-+,���2�$ก
05
ก)`;9c6�ก��$ 
                    @3�     .5��$-,��;@�����$��8�1q�-,�./+���4����l 

  N @3�     	�����./+���4����l 
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       1.2  ���$��:4,$
4�  (Reliability)  -,�@00�,02�$  *�+�/6��
$��;��3<�|@,5e�  
(α  -   Coefficient)  -,���,�0
�  (Cronbach,,+��2(�*� 9���
6�_  3���
6�_ ,2540:125) 
 

   α  =       

 
  �$:4, α  @3� �&��
$��;��3<�|���$��:4,$
4� 

   n  @3� 	�����-+,-,�@00�,02�$ 
     @3�     �&����$@������-,�@00�,02�$@6&5;-+, 
      @3� �&����$@������-,�@00�,02�$3

�b0
0 
 
 
  2.  �2�6�3�4*�+*�ก��������;1_-+,$/5  ?8+@ก&   

       2.1  �&��b5�4��5-�`�6  (Arithmetic Mean)  A8�*�+�/6�8
���
   
(,+��2(�*���8��ก  ��������_,2539 : 24) 

      

  �$:4,  
    @3� �&��b5�4� 
    @3� .5��$-,�-+,$/53%ก6
� 
   N @3� 	�����-+,$/53

�1$8 
         2.2  �&����$�0�4���0�$�6�r��  (Standard  deviation)  A8�*�+�/6� Ferguson 

(1981:68 ,+��2(�*�.&,�'��   ��`���_'%>��'_,2546:160)  

   SD    =   

 �$:4, SD    @3�     �&��&���0�4���0�$�6�r��    

      @3�      .5��$-,��;@��@6&5;-+,�กก��5
��,� 

                   @3�    .5��$-,��;@��3

�1$8�กก��5
��,� 

    N       @3�    	�����3

�1$8*�ก5%&$6
�,�&�� 
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        2.3  �&��
$��;��3<�|-,��9���_�
� (Pearson ' s Product  Moment   

Correlation  Coefficient)  A8�*�+�/6�8
���
 (0%l�$  '���;,�8,2545:110) 

 

  r  =  

 �$:4, r    @3�   �&��
$��;��3<�|�1�
$9
�<_ 

     @3�   �&�.5��$-,��;@���%8  X 

      (�;@��ก��*�+,����	-,�./+0��1���2��'(ก)�) 

     @3�   �&�.5��$-,��;@���%8 Y   

      (�;@��.5ก���7�0
6����-,���/) 

     @3�   �&�.5��$-,��;@���%8  X  @6&5;6
��กก��5
��,� 

     @3�   �&�.5��$-,��;@���%8 Y  @6&5;6
��กก��5
��,� 

     @3�    �&�.5��$-,�.5�/`�;1�&��  X  ก
0  Y 

  N    @3�   �&�	�������1�:,��4�3�4'(ก)� 

 

                           2.4  ������;1_ก��282,�91%�/`@00 (Stepwise Multiple Regression  Analysis )  
�9:4,�+�1�ก��*�+��;�>3-,�,����	-,�./+0��1��3�4����6
�9��ก�`_3�48�*�ก���7�0
6����-,�
-+����ก����/  @5;��+���$ก��*��/��;@��8�0@5;*��/��;@��$�6�r��	�ก�$ก��6&,?���
  
( 0%l�$  '���;,�8, 2540 : 143-144 )   

1) �$ก��9��ก�`_*��/��;@��8�0 
Y ′  =    

kk
xbxbxba ++++ ...

2211
 

  �$:4, Y ′  @3� �;@��9��ก�`_-,�6
��ก`u_ (6
�@��6�$) 
   a       @3� �&���3�4-,��$ก��9��ก�`_*��/��;@��8�0 
  

k
bbb ,...,,

32
 @3� �&��
��1�
ก�;@��1�:,�
$��;��3<�|ก��282,�-,�6
�   

9��ก�`_6
�3�4  1  2(�6
�3�4  k  6�$5��8
0 
  

k
xxx ,...,,

32
 @3� �;@��-,�6
�9��ก�`_ (6
�@��,���;)  6
�3�4  1 2(�6
�3�4    

k  6�$5��8
0  
   K @3� 	�����6
�9��ก�`_ (6
�@��,���;) 
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2) �$ก��`_9��ก�`_*��/��;@��$�6�r�� 

 
   

Y
Z ′  =     

kk
ZZZ βββ +++ ...

2211
 

  �$:4, 
Y
Z ′  @3� �;@��9��ก�`_*��/��;@��$�6�r��-,�6
��ก`u_ 

                                                                    (6
�@��6�$) 

k
βββ ,...,,

21
 @3� �&��
��1�
ก�06+�  1�:,�
$��;��3<�|ก��282,�-,� 

             �;@��$�6�r��-,�6
�9��ก�`_6
�3�4 1  2(�6
�3�4 k      
   6�$5��8
0 

  
k
ZZZ ,...,,

21
 @3� �;@��$�6�r��-,�6
�9��ก�`_ (6
�@��,���;)6
�3�4 1   

                                                      2(�6
�3�4 k  6�$5��8
0 
   K  @3� 	�����6
�9��ก�`_ 
 
 

 

 

 

 

 

 

 

 

 

 


